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I. CHOOSE THE CORRECT OPTION (1x15=15)
1. refers to the changes brought about in Indian society and culture as a result of over 150 years of

10.

11.

12.

13.

14.

15.

British rule.

a.  Westernization b. Modernization c¢. Brahmanisation d. Sanskritisation
Who introduced the term ‘Westernization’?

a. Yogendra Singh b. D.P Mukherjee c. M.N Srinivas d. None

What are the by-products of Westernization process?

a. Humanitarianism b. Equalitarianism c. Attack on untouchability d. All

The term ‘Humanitarianism’ refers to

a. Concerned with promoting human welfare irrespective of caste

b. An active concern for the welfare of all human beings irrespective of caste, economic position, religion, age, sex.
c. Compassionate

d. A person who seeks to promote human welfare

The process of westernization includes

a. Establishments of educational institutions c. Rise of nationalism

b. Rise of new political culture d. All are correct

The form and pace of westernization of India varied from region to region and from one section of population to
another.

a. False b. True c. Partly correct d. Partly incorrect

Who wrote that “In the political and cultural fields, westernization has given birth not only to nationalism but also to
revivalism, communalism, casteism, heightened linguistic consciousness, and regionalism.”?

a. Raja Rammohan Roy b. Atmaram Pandurang c. M.N Srinivas d. None
Westernization is a term that is
a. Biased b. Prejudiced c. Predisposed d. Ethically neutral
The impact of westernization on Indian society was that
a. It made education for all c. Highlighted evil practices
b. It made people realize the worth of liberty and freedom d. All are correct
The concept of westernization primarily analyzes social change in and not in structural terms.
a. Social b. Political c. Religious d. Cultural
The abolition of superstitious beliefs, sati system and slavery was possible due to
a. Modernization b. Liberalization c. Westernization d. Globalization
According to Srinivas, the increase in westernization retarded the process of sanskritisation.
a. True b. Maybe c. False d. None
implies according to Srinivas, “certain value preferences”.
a. Modernization b. Westernization c. Sanskritization d. Secularism
The village community was based on
a. Complex division of labor b. Simple division of labor c. Both are correct d. Only b

Who said, ‘The principle occupation of the countrymen was may be hunting or fishing, as in many primitive
communities, but pre-dominantly it is farming involving the raising of crops and of stock.’
a.  Sir Charles Metcalfe b. Sir Henry Maine c. Maclver and Page d. All
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